Homework 3.3

This was the final week of the course; however, we still discussed a very important
topic. The primary topic was how to select pumps and how to read graphs and charts to find
the correct pump for a system. Pumps are usually thrown onto a graph with a great deal of
overlap as pumps can cover certain ranges of speed and flow rate. Companies sometimes have
these graphs in pamphlets to help sell their pumps or as a user’s manual. The homework
problems focused on chapter 13 and finding the Net Positive Suction Head or NPSH.
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